CSE142 Final Exam Key
Spring 2019

1. The program produces the following output:

108 [5, 10, 14]
8 [5, 10, 14]

20 8
2. Original Array Final Array
[2, 3, 1] (2, 3, 1]
[21 6! 3/ 5] [21 6! 4! _2]
(3, 3, 7, 9l (3, 3, 0, 9]
(2, 4, 5, 6, 8] (2, 4, 2, 6, 4]
(1, 5, 8, 4, 10, 9] (1, 5, 4, -1, 10, 11]

3. The program produces the following output:

Eins
Eins 1
Zwel 2 Eins 1

Eins
Eins 1

Eins 2

Vier Drei

Drei 1

Zwel 2 Drei 1 Vier 2
Drei

Drei 1

Zwel 2 Drei 1

4. Two possible solutions:

public static void formatList (Scanner input) {

while (input.hasNextLine()) {
String text = input.nextLine();
if (!text.startsWith(".")) {
System.out.println (text) ;
} else {
while (text.startsWith(".")) {
System.out.print (" ")

text = text.substring(l);

}
System.out.println("* " + text);



public static void formatList (Scanner input) {

while (input.hasNextLine()) {

String line = input.nextLine();

int indent = 0;

while (indent < line.length() && line.charAt(indent) == "'.") {
indent++;

}

line = line.substring(indent);

for (int i = 0; 1 < indent * 4; i++) {
System.out.print (" ");

}

if (indent > 0) {
System.out.print ("* ");

}

System.out.println(line);

}

5. One possible solution:

public static void calculateGrade (Scanner file) {
int hwPoints = 0;
int hwPoss = 0;
int examPoints = 0;
int examPoss = 0;

while (file.hasNext ()) {
String type = file.next();

int score = file.nextInt();
int poss = file.nextInt();
if (type.equalsIgnoreCase ("Homework")) {

hwPoints += score;
hwPoss += poss;
} else if (type.equalsIgnoreCase ("Exam")) {
examPoints += score;
examPoss += poss;

}

double hwPct = (double) hwPoints / hwPoss * 100;

double examPct = (double) examPoints / examPoss * 100;
System.out.println ("Homeworks: " + hwPoints + "™ / " + hwPoss + " = " + hwPct);
System.out.println("Exams: " + examPoints + " / " + examPoss + " = " + examPct);

double overall = (hwPct + examPct) / 2;
System.out.println ("Overall grade: " + overall);

}
6. Three possible solutions:

public static boolean sweep(int[] a) {
boolean changed = false;
for (int i = 0; i1 < a.length - 1; i++) {
if (ali] > ali + 11) |
int temp alil;
afi] = afi + 117
ali + 1] temp;
changed = true;

I

I

}
}

return changed;



public static boolean sweep(int[] a) {
int count = 0;
for (int 1 = 0; 1 < a.length - 1; i++)
if (af[i] > ali + 11) ¢{
int temp = al[i];

ali] = ali + 11;
ali + 1] = temp;
count++;

}

if (count > 0) {
return true;
} else {
return false;
}
}

public static boolean sweep (int[] a) {

int count = 0;
for (int 1 = 1; i < a.length; i++) {
int templ = al[il;
int temp2 = afli - 1];
if (af[i - 11 > aflil]) {
ali - 1] = templ;
ali] = temp2;
count++;

}

if (count > 0) {
return true;
} else {
return false;

}

7. One possible solution:

public String to24HourString() {
int h = this.hour;
int m = this.minute;

if (h == 12) {

h = 0;

}

if (amPm.equalsIgnoreCase ("pm")) {
h += 12;

}

String result = "";
if (h < 10) {
result += "0";

}

result += h;

if (m < 10) {
result += "0";

}

result += m;

result += " hours";

return result;



8. One possible solution:

public class Cheetah extends Critter {

private boolean goingSouth;
private int foodNeeded;
private int foodEaten;

public Cheetah (int foodNeeded) {
this.foodNeeded = foodNeeded;

Random r = new Random() ;

int choice = r.nextInt(2);
if (choice == 0) {
goingSouth = true;
} else {
goingSouth = false;
}
}
public Direction getMove () {

if (goingSouth) {
return Direction.SOUTH;
} else {
return Direction.EAST;
}
}

public boolean eat () {
goingSouth = !goingSouth;
foodEaten++;

return true;

}

public Attack fight (String opponent)
if (foodEaten < foodNeeded) {
return Attack.FORFEIT;
} else {
foodEaten = 0;
return Attack.POUNCE;

9. Two possible solutions:

public static int[] maxes(int[] arrl, int[]
int length = Math.max (arrl.length,

int[] result = new int[length];

for (int i = 0; i < length; i++) {

}

if (i >= arrl.length) {

result[i] = arr2[i];

} else if (i >= arr2.length) {
result[i] = arrl[i];

} else if (arrl[i] > arr2[i]) {
result[i] = arrl[i];

} else {
result[i] = arr2[i];

}

return result;

arr2)

{

arr2.length);



public static int[] maxes (int[] arrl, int[] arr2) {
int[] result = new int[Math.max(arrl.length, arr2.length)];
int shorter = Math.min(arrl.length, arr2.length);

for (int 1 = 0; 1 < shorter; i++) {
if (arrl[i] > arr2[i]) {
result[i] = arrl[i];
} else {
result[i] = arr2[i];
}
}
for (int i = shorter; i < result.length; i++) {
if (i >= arrl.length) {
result[i] = arr2[i];
} else {
result[i] = arrl[i];

}
}

return result;

10. Four possible solutions:

public static String undouble (String s) {
if (s.length() <= 1) {
return s;

}

String res = "";
for (int i = 0; 1 < s.length() - 1; i++) {
char next = s.charAt(i);
if (next == s.charAt(i + 1)) {
i++;

}

res += next;

}

if (s.length() > 1) {
if (s.charAt(s.length() - 1) != s.charAt(s.length() - 2))
res += s.charAt(s.length() - 1);

}

return res;

}

public static String undouble (String s) {
String result = "";
if (s.length() > 0) {
char last = s.charAt(0);
result += last;
for (int i = 1; i1 < s.length{()
if (s.charAt (i) != last) {
result += s.charAt(i);

s 1+4+) |

}
last = s.charAt (i)
}
}

return result;



public static String undouble (String str)

if

}

(str.length() == 0) {
return "";

String result = "";
char prev = str.charAt (0);

res

for

}

ret

}

public
for

}

ret

ult += prev;

(int 1 = 1; 1 < str.length(); i++)
char curr = str.charAt(i);
if (curr !'= prev) {
result += curr;
}

prev = curr;
urn result;

static String undouble (String s) {

(int 1 = 0; 1 < s.length() - 1; i++) {
if (s.charAt(i) == s.charAt(i + 1)) {
s = s.substring (0, i) + s.substring(i + 1);
}
urn s;

{



